MATHEMATICA — REVUE D'ANALYSE NUMÉRIQUE ET DE THÉORIE DE L'APPROXIMATION

L'ANALYSE NUMÉRIQUE ET LA THÉORIE DE L'APPROXIMATION Tome 7, Nº 2, 1978, pp. 147-155

MINIMAL MONOSPLINES IN L_2 AND OPTIMAL CUBATURE FORMULAE

by GH. COMAN (Cluj-Napoca)

1. In [1] was introduced the two-dimensional monospline, namely; if $\Pi = \{(x_i, y_i) | 0 \le x_0 < \ldots < x_m \le 1; \ 0 \le y_0 < \ldots < y_n \le 1\}$ and S is a two-dimensional spline function of the degree (r-1, s-1) with deficiency of order (μ, ν) and with the knots $(x_i, y_i) \in \Pi$, then the function

(1.1)
$$M(x, y) = \frac{x^r y^s}{r! s!} + S(x, y)$$

is called a two-dimensional monospline of the degree (r, s) with deficiency of order (μ, ν) and with the knots $(x_i, y_j) \in \Pi$. The set of these functions was denoted by $\mathfrak{M}_{rs}(m, n, \mu, \nu)$ or \mathfrak{M}_{rs} .

Furthermore, in [1] was considered the problem to find the monospline $\overline{M} \in \mathfrak{M}_{rs}(m, n, \mu, \nu)$ for which

$$||\overline{M}||_{L_{\mathbf{z}}(D)} = \min_{M \in \mathfrak{M}_{rs}} ||M||_{L_{\mathbf{z}}(D)},$$

where $D = \{0 \le x, y \le 1\}$, and this problem was solved in the case $x_0 = y_0 = 0$, $x_m = y_n = 1$ and $\mu = r - 1$, $\nu = s - 1$.

Now, let $\mathfrak{M}_{rs}^{0}(m, n, r-1, s-1)$ be the set of those monosplines from \mathfrak{M}_{rs} (m, n, r-1, s-1) for which

(1.2)
$$M^{(p,q)}(a,b) = 0$$
, $M^{(p,0)}(a,y) = 0$, $M^{(0,q)}(x,b) = 0$, $(a,b=0,1)$; $p = 0, \ldots, r-1$; $q = 0, \ldots, s-1$.

One observes that the conditions (1,2) are satisfied if and only if

$$\begin{split} M^{0}(x, y) &= \frac{x^{r}y^{s}}{r \mid s \mid} + \sum_{i,j=0}^{m,n} \sum_{p,q=0}^{r-1,s-1} \omega_{ij}^{pq} \frac{(x-x_{i})_{+}^{p}}{p \mid} \frac{(y-y_{j})_{+}^{q}}{q \mid} + \\ &+ \frac{y^{s}}{s \mid} \sum_{i=0}^{m} \sum_{p=0}^{r-1} \alpha_{is}^{p} \frac{(x-x_{i})_{+}^{p}}{p \mid} + \frac{x^{r}}{r \mid} \sum_{j=0}^{n} \sum_{q=0}^{s-1} \beta_{rj}^{q} \frac{(y-y_{j})_{+}^{q}}{q \mid}, \end{split}$$

and

(1.3)
$$\sum_{i,j=0}^{m,n} \sum_{p,q=0}^{r-1,s-1} \omega_{ij}^{pq} \frac{(x-x_{i})_{+}^{p}}{p!} \frac{(y-y_{j})_{+}^{q}}{q!} = \sum_{i=0}^{m} \sum_{p=0}^{r-1} \alpha_{is}^{p} \frac{(x-x_{i})_{+}^{p}}{p!} \sum_{j=0}^{n} \sum_{q=0}^{s-1} \beta_{rj}^{q} \frac{(y-y_{i})_{+}^{q}}{q!}, \quad x \in [x_{m}, 1]$$

$$\sum_{i=0}^{m} \sum_{p=0}^{r-1} \alpha_{is}^{p} \frac{(x-x_{i})_{+}^{p}}{p!} = \frac{(x-1)^{r}-x^{r}}{r!},$$

$$\sum_{j=0}^{n} \sum_{q=0}^{s-1} \beta_{rj}^{q} \frac{(y-y_{j})_{+}^{q}}{q!} = \frac{(y-1)^{s}-y^{s}}{s!}, \quad x \in [x_{m}, 1]$$

$$y \in [y_{-1}, 1].$$

for each $M^0 \in \mathfrak{M}_{rs}^0(m, n, r-1, s-1)$.

In this paper one considers the problem to find the monospline $\overline{M}^0 \in \mathfrak{M}^0_{rs}(m, n, r-1, s-1)$ which is of least deviation from zero in the square mean, on D.

The solution of this minimization problem is given by:

THEOREM 1. If

1) m, n, r, s are given natural numbers,

2) \mathfrak{M}_{r}^{0} and \mathfrak{M}_{s}^{0} are respectively the set of one-dimensional monosplines of the degree r with deficiency of order r-1 and with the knots $\{x_{i}\}$ and the set of one-dimensional monosplines of the degree s with dericiency of order s-1 and with the knots $\{y_{i}\}_{r}$, which satisfy the conditions

$$M_1^{(p)}(0) = M_1^{(p)}(1) = 0$$
, $(p = 0, ..., r - 1)$, $\forall M_1 \in \mathfrak{M}_r^0$, $M_2^{(q)}(0) = M_2^{(q)}(1) = 0$, $(q = 0, ..., s - 1)$, $\forall M_2 \in \mathfrak{M}_s^0$

3) $\overline{M}_1^0 \in \mathfrak{M}_r^0$ and $\overline{M}_2^0 \in \mathfrak{M}_s^0$ are respectively the monospines which are of least deviation from zero in the square mean, on [0,1], then there exists a unique monospline $\overline{M}^0 \in \mathfrak{M}_{rs}^0$, which is of least deviation from zero in square mean, on D, namely

$$\overline{M}^0(x, y) = \overline{M}^0(x) \overline{M}^0(y)$$

and

$$||\bar{M}^0||_{L_s(D)} = \frac{r \ln 1}{(2r+1)(2s+1)} \, \rho^r \, \eta^s,$$

where

$$\rho = \frac{1}{2\sqrt[r]{(r!)^2 + m\sqrt[r]{(2r)!}}}, \quad \eta = \frac{1}{2\sqrt[s]{(s!)^2 + n\sqrt[s]{(2s)!}}}$$

Proof. It is known from [4] that in the set of the polynomials of the from

$$(1.4) P_{rs}(x,y) = x^{r}y^{s} + x^{r} \sum_{q=0}^{s-1} a_{rq}y^{q} + \sum_{p=0}^{r-1} a_{ps}x^{p} + \sum_{q=0}^{r-1, s-1} a_{pq}x^{p}y^{q}$$

the unique polynomial which is of least deviation from zero, on $[a - h \le x \le a + h; b - g \le y \le b + g]$, is

$$(1.5) \overline{P}_{rs}(x,y) = h^r g^s X_r \left(\frac{x-a}{h}\right) X_s \left(\frac{y-b}{g}\right),$$

where X_n is the Legendre polynominal of the degree n having the coefficient of x' equal with 1.

Thus, the proof proceeds by establishing the monospline $M_0 \in \mathfrak{M}^0_{rs}$ for which the integral

$$J = \int_{0.0}^{1.1} [M_0(x, y)]^2 dx dy$$

takes the minimum value. This integral can be written

(1.6)
$$J = \sum_{i,j=0}^{m+1,n+1} \int_{x_{i-1}}^{x_i} \int_{y_{i-1}}^{y_j} [M_{ij}^0(x,y)]^2 dx dy,$$

where $x_{-1} = y_{-1} = 0$, $x_{m+1} = y_{n+1} = 1$ and

$$(1.7) M_{ij}^{0}(x,y) = \frac{x^{r}y^{s}}{s \mid r \mid} + \sum_{k,l=0}^{i-1, j-1} \sum_{p,q=0}^{r-1, s-1} \omega_{kl}^{pq} \frac{(x-x_{k})^{p}}{p \mid} \frac{(y-y_{l})^{q}}{q \mid} +$$

$$+ \frac{y^{s}}{s \mid} \sum_{k=0}^{i-1} \sum_{p=0}^{r-1} \alpha_{ks}^{p} \frac{(x-x_{k})^{p}}{p \mid} + \frac{x^{r}}{r \mid} \sum_{l=0}^{j-1} \sum_{q=0}^{s-1} \beta_{rl}^{q} \frac{(y-y_{l})^{q}}{q \mid}.$$

Using the notations

$$\frac{\omega_{kl}^{pq}}{p \mid q \mid} = \frac{\theta_{kl}^{pq}}{r \mid s \mid}, \quad \frac{\alpha_{ks}^{p}}{p \mid} = \frac{\gamma_{ks}^{p}}{r \mid}, \quad \frac{\beta_{rl}^{q}}{q \mid} = \frac{\delta_{rl}^{q}}{s \mid},$$

it follows that

$$M_{ij}^{0}(x, y) = \frac{1}{r!s!} N_{ij}^{0}(x, y),$$

where

$$(1.8) N_{ij}^{0}(x,y) = x^{r}y^{s} + \sum_{k,l=0}^{i-1,j-1} \sum_{p,q=0}^{r-1,s-1} \theta_{kl}^{pq}(x-x_{k})^{p}(y-y_{l})^{q} + y^{s} \sum_{k=0}^{i-1} \sum_{p=0}^{r-1} \gamma_{ks}^{p}(x-x_{k})^{p} + x^{r} \sum_{l=0}^{j-1} \sum_{q=0}^{s-1} \delta_{r}^{q}(y-y_{l})^{q}.$$

From (1.6) it follows

$$(1.9) J = \frac{1}{(r!)^2(s!)^2} \sum_{i,j=0}^{m+1,n+1} I_{ij}, \quad I_{ij} = \int_{x_{i-1}}^{x_i} \int_{y_{j-1}}^{y_j} \left[N_{ij}^0(x,y) \right]^2 dx dy.$$

One observes that the integral J takes its minimum value if and only if each of the integrals I_{ij} take the minimum value. But N_{ij}^0 , $(i = 1, \ldots, m; j = 1, \ldots, n)$ is a polynomial of the from (1.4). It follows that the integral I_{ij} takes its minimum value only if

$$(1.10) N_{ij}^0(x,y) = h_i^r g_j^s X_r \left(\frac{x-a_i}{h_i}\right) X_s \left(\frac{y-b_j}{g_j}\right), \quad (x,y) \in D_{ij},$$

where $D_{ij} = \{x_{i-1} \le x \le x_i; \ y_{j-1} \le y \le y_j\}$ and $a_i = \frac{x_{i-1} + x_i}{2}$,

$$h_i = \frac{x_i - x_{i-1}}{2}$$
, $b_j = \frac{y_{j-1} + y_j}{2}$, $g_j = \frac{y_j - y_{j-1}}{2}$.

Assuming that the knots (x_i, y_i) are fiexd and taking into account that

$$\int_{a-h}^{a+h} X_n^2(x) dx = \frac{(n!)^n 2^{2n+1}}{(2n+1)[(2n)!]^n} h^{2n+1},$$

we obtain

$$(1.11) \quad \overline{I}_{ij} = \frac{(r!)^4(s!)^4}{(2r+1)\lceil (2r)! \rceil^2 (2s+1)\lceil (2s)! \rceil^2} (x_i - x_{i-1})^{2r+1} (y_j - y_{j-1})^{2s+1}$$

 $(i = 1, \ldots, m; j = 1, \ldots, n).$

From (1.3) it follows that

$$(1.12) N_{ij}^0(x, y) = N_{1i}^0(x) N_{2j}^0(y), (x, y) \in D_{i0} \cup D_{i, n+1} \cup D_{0j} \cup D_{m+1, j},$$

$$(i = 0, 1, ..., m + 1; j = 0, 1, ..., n + 1)$$
, where

$$N_{1i}^{0}(x) = x^{r} + \sum_{k=0}^{i-1} \sum_{p=0}^{r-1} \gamma_{ks}^{p}(x - x_{k})^{p}, \ N_{1, m+1}^{0}(x) = (x - 1)^{r}$$

$$(1.13) N_{2j}^{0}(x) = y^{s} + \sum_{l=0}^{j-1} \sum_{q=0}^{s-1} \delta_{nl}^{q} (y - y_{l})^{q}, \ N_{2, n+1}^{0}(y) = (y - 1)^{s}.$$

From (1.9) and (1.11), taking into account that in the set of the from (1.13) the unique polynomials which, on $[x_{i-1}, x_i]$ respectively $[y_{j-1}, y_j]$, are of least deviation from zero in square mean, are the corresponding Legendre polynomials $h_i^r X_r$, $\left(\frac{x-a_i}{h_i}\right)$ and $g_j^s X_s \left(\frac{y-b_j}{g_j}\right)$, it follows that

$$\overline{J} = \frac{1}{(r!)^2(s!)^2(2r+1)(2s+1)} \left[x_0^{2r+1} + \frac{(r!)^4}{[(2r)!]^2} \sum_{i=1}^m (x_i - x_{i-1})^{2r+1} + \right. \\
+ (1 - x_m)^{2r+1} \cdot \left[y_0^{2s+1} + \frac{(s!)^4}{[(2s)!]^2} \sum_{i=1}^n (y - y_{j-1})^{2s+1} + (1 - y_n)^{2s+1} \right].$$

Now we shall minimize the function \overline{J} with regard to the parameters x_i , y_j . It is easy to see that \overline{J} takes its minimum value only when

(1.14)
$$\bar{x}_0 = \rho \sqrt[r]{(r!)^2}, \ \bar{x}_1 = \bar{x}_0 + ih, \ (i = 1, ..., m)$$

$$\bar{y}_0 = \eta \sqrt[r]{(s!)^2}, \ \bar{y}_j = \bar{y}_0 + ig, \ (j = 1, ..., n)$$

where

(1.15)
$$h = \rho \sqrt[r]{(2r)!}, g = \eta \sqrt[s]{(2s)!}$$

and

(1.16)
$$\min_{x_{i}, y_{j}} \overline{J} = \frac{(r!)^{2}(s!)^{2}}{(2r+1)(2s+1)} \rho^{2r} \eta^{2s}.$$

Using again the identities (1.10), we shall determine the parameters θ_{ij}^{pq} . In the same way as in [1] we get

$$\overline{\omega}_{ij}^{pq} = \overline{\alpha}_i^p \overline{\beta}_i^q, \ \overline{\alpha}_{is}^p = \overline{\alpha}_i^p, \ \overline{\beta}_{ri}^q = \overline{\beta}_i^q.$$

where

$$\overline{\alpha}_{0}^{p} = \frac{\rho^{r-p}}{r!} \left\{ (-1)^{r-p} X_{r}^{(p)} (1) \left[(2r) ! \right]^{\frac{r-p}{2}} - \frac{r!}{(r-p)!} (r!)^{\frac{2(r-p)}{2}} \right\}$$

$$\overline{\alpha}_{i}^{p} = \frac{(-1)^{r-p} - 1}{r!} h^{r-p} X_{r}^{(p)} (1), \quad (i = 1, \dots, m-1)$$

$$\overline{\alpha}_{m}^{p} = (-1)^{r-p-1} \alpha_{0}^{p}, \quad (p = 0, 1, \dots, r-1),$$

and

(1.18)
$$\bar{\beta}_{0}^{q} = \frac{\eta^{s-q}}{s!} \left\{ (-1)^{s-q} X_{s}(1) \left[(2s)! \right]^{\frac{s-q}{s}} - \frac{s!}{(s-q)!} (s!)^{\frac{2(s-q)}{2}} \right\},$$

$$\overline{\beta}_n^q = (-1)^{s-q-1} \overline{\beta}_0^q, (q = 0, 1, ..., s - 1).$$

From (1.8) it follows that

$$\overline{M}_{ij}^{0}(x, y) = \left[\frac{x^{r}}{r!} + \sum_{k=0}^{i-1} \sum_{p=0}^{r-1} \overline{\alpha}_{k}^{p} \frac{(x - \bar{x}_{k})^{p}}{p!}\right] \left[\frac{y^{s}}{s!} + \sum_{l=0}^{j-1} \sum_{q=0}^{s-1} \overline{\beta}_{l}^{q} \frac{(y - \bar{y}_{l})}{q!}\right].$$

Thus the theorem is proved.

2. Let us consider the problem to approximate the intergal

$$I = \int_{0}^{1} \int_{0}^{1} f(x, y) dx dy$$

by a linear functional of the form

$$Q(f) = \sum_{i,j=0}^{m,n} \sum_{p,q=0}^{\mu,\nu} A_{ij}^{pq} f^{(p,q)}(x_i, y_j),$$

where A_{ij}^{pq} , x_i , y_j are real parameters satisfying the conditions:

$$0 \leqslant x_0 < \ldots < x_m \leqslant 1, \quad 0 \leqslant y_0 < \ldots < y_n \leqslant 1.$$

Let $M \in \mathfrak{M}_{rs}^{0}$. Because $M^{(r,s)} = 1$, we have

$$I = \int_{0}^{1} \int_{0}^{1} M^{(r, s)}(x, y) f(x, y) dxdy,$$

or

(2.1)
$$I = \sum_{i,j=0}^{m_i} \int_{x_{i-1}}^{x_i} \int_{y_{j-1}}^{y_i} M_{ij}^{(r,s)}(x,y) f(x,y) dx dy,$$

where M_{ij} is a polynomial of the form (1.7). If we apply the general formula for integration by parts it follows that

$$(2.2) \int_{0}^{1} \int_{0}^{1} f(x, y) \, dx \, dy = \sum_{i, j=0}^{m_i, n} \sum_{p, q=0}^{r-1, s-1} (-1)^{p+q} [M^{(r-p-1, s-q-1)}(x_i - 0, y_j - 0) - M^{(r-p-1, s-q-1)}(x_i + 0, y_j - 0) - M^{(r-p-1, s-q-1)}(x_i - 0, y_j + 0) + M^{(r-p-1, s-q-1)}(x_i + 0, y_j + 0)] f^{(p, q)}(x_i, y_j) + R(f),$$

where

7

$$(2.3) R(f) = (-1)^{r} \int_{0}^{1} \int_{0}^{1} M^{(0, s)}(x, y) f^{(r, 0)}(x, y) dx dy +$$

$$+ (-1)^{s} \int_{0}^{1} \int_{0}^{1} M^{(r, 0)}(x, y) f^{(0, s)}(x, y) dx dy -$$

$$- (-1)^{r+s} \int_{0}^{1} \int_{0}^{1} M(x, y) f^{(r, s)}(x, y) dx dy.$$

Thus we obtain a cubature formula with the coefficients

$$(2.4) A_{ij}^{pq} = (-1)^{p+q} \left[M^{(r-p-1, s-q-1)}(x_i - 0, y_j - 0) - M^{(r-p-1, s-q-1)}(x_i + 0, y_j - 0) - M^{(r-p-1, s-q-1)}(x_i - 0, y_j + 0) + M^{(r-p-1, s-q-1)}(x_i + 0, y_j + 0) \right]$$

and with the remainder (2.3). We shall denote the set of these cubature formulas by \mathcal{F}_{rs} .

Assuming that $||f^{(r, 0)}||_{L_1(D)} \leq P_{r0}$, $||f^{(0, s)}||_{L_2(D)} \leq P_{os}$ and $||f^{(r, s)}||_{L_2(D)} \leq P_{rs}$, we obtain

$$|R(f)| \leq P_{ro} \left(\int_{0}^{1} \int_{0}^{1} [M^{(0, s)}(x, y)]^{2} dx dy \right)^{1/2} + P_{0s} \left(\int_{0}^{1} \int_{0}^{1} [M^{(r, 0)}(x, y)]^{2} dx dy \right)^{1/2} + P_{rs} \left(\int_{0}^{1} \int_{0}^{1} [M(x, y)]^{2} dx dy \right)^{1/2}.$$

One considers the following problem: if m, n, r and s are given natural numbers, determine $F \in \mathcal{F}_{rs}$ for which the second member of (2.5), where P_{ro} , P_{os} , P_{rs} are given real numbers, takes its minimum value.

We observe that the solution of this problem corresponds to the monospline $M \in \mathfrak{M}_{rs}$ for which the integrals

$$I_{0s} = \int_{0}^{1} \int_{0}^{1} [M^{(0,s)}(x,y)]^{2} dxdy, \quad I_{r0} = \int_{0}^{1} \int_{0}^{1} [M^{(r,0)}(x,y)]^{2} dxdy$$

$$I_{rs} = \int_{0}^{1} \int_{0}^{1} [M(x,y)]^{2} dxdy$$

take the minimum value.

9

8

Taking into account that

$$M^{(0, s)}(x, y) = \frac{x^r}{r!} - \sum_{i=0}^m \sum_{p=0}^{r-1} \alpha_{is}^p \frac{(x - x_i)_+^p}{p!} = M_1(x)$$

$$M^{(r,0)}(x,y) = \frac{y^s}{s!} - \sum_{j=0}^n \sum_{q=0}^{s-1} \beta_{rj}^q \frac{(y-y_j)_+^q}{q!} = M_2(y)$$

it follows (see theorem 1) that the integrals (2.6) take the minimum value only if:

$$M(x,y) = \overline{M}_1(x) \cdot \overline{M}_2(y)$$

where M_1 and M_2 are the one-dimensional monosplines of the degree rrespectively s which, on [0,1], are of least deviation from zero in the square mean. These monosplines are defined by the values (1.14) respectively (1.17) — (1.18) of the parameters x_i , y_j and α_i^p , β_j^q .

From (2.4) one obtains

(2.7)
$$A_{ij}^{pq} = (-1)^{p+q-r-p-1-s-q-1}, \quad {i=0, \ldots, m; p=0, \ldots, r-1 \choose j=0, \ldots, n; q=0, \ldots, s-1},$$

where $\overline{\alpha}_i^k$ and $\overline{\beta}_i^l$ are given by (1.17) respectively (1.18). Also, from (1.16) and (2.5) it follows that

$$(2.8) |R(f)| \leqslant P_{r0} \frac{r!}{\sqrt{2r+1}} \rho^r + P_{0s} \frac{s!}{\sqrt{2s+1}} \eta^s + P_{rs} \frac{r!s!}{\sqrt{(2r+1)(2s+1)}} \rho^r \eta^s$$

Thus we proved the following theorem:

THEOREM 2. If m, n, r and s are given natural numbers, then in the set F_{rs} there exists a unique cubature formula for which the right member of the inequality (2.5) takes its minimum value. The coefficients of this formula are given by (2.7), the coordinate of knots have the expressions (1.14) and the remainder estimation is given by (2.8).

REFERENCES

[1] Coman Gh., Two-dimensional monosplines and optimal cubature formulae. Studia Univ. Babes - Bolyai, Ser. Math.-Mech., 1 pp. 41-53 (1973).

[2] Ghizzetti A., Ossicini A., Quadrature formulae. Akad.-Verlag Berlin, 1970.

[3] Levin M., Ob ekstremal'nyh zadačah cvjazannyh s odnot kvadraturnot formulot Izv. AN Est. SSR, Ser. Fiz.-Matem. i Teh. Nauk, 12, 1, pp. 44-56 (1963).

[4] Levin M., Sac E. M., Ob odnom obobsčenii formuly integrirovanija po častjam v slucaj dvojnyh integralov. Izv. AN Est. SSR, Ser. Fiz. Matem. i Teh. Nauk, 18, 4 pp. 460-464 (1969).

[5] Ritter K., Two-dimensional spline functions and best approximation of linear functionals. J. Approx. Theory 3, 4, pp. 352-368 (1940).

[6] Schoenberg I. J., Monosplines and quadrature formulae. In ,, Theory and applications of spline functions" (Edited by T.N.E. Greville) Akad. Press, New York, London, 1969, pp. 157-207.

[7] Stancu D. D., The remainder of certain linear approximation formulas in two variables.

J. SIAM Numer. Anal. Ser. B, 1, pp. 137-163 (1964).

Received 10.VI.1978.

Universitatea Babes - Bolyai Facultatea de Matematică Str. Kogălniceanu 1 3 400 Čluj -- Napoca